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I (4.5)
Define three of the following concepts (3-5 lines each):

i. Spread between bid and ask

ii. Triangular arbitrage

iii. DD curve

iv. Cost of fixing (in the FIX line)

v. Labour mobility criterium (OCA)



1V (2)
In each question, choose one (correct answer: +0.5; wrong answer: -0.125):

A Put foreign exchange option gives the owner: (i) the obligation to buy a given amount
of foreign currency at a pre-determined exchange rate on a specified date in the future;
(ii) the right but not the obligation to buy a given amount of foreign currency at a pre-
determined exchange rate on a specified date in the future; (iii) the right and the
obligation to sell a given amount of foreign currency at a pre-determined exchange rate
on a specified date in the future; (iv) none of the above.

. A nominal exchange rate depreciation will fail to improve the current account if: (i)
imports and exports are inelastic; (ii) domestic wages and prices are indexed to the US
dollar; (iii) the volume effect offsets the value effect; (iv) all of the above.

Irrespectively of the exchange rate regime, in the long run: (i) government expenditures
influence the nominal exchange rate and money drives the price level; (ii) government
expenditures drive the price level and money drives the real exchange rate; (iii)
government expenditures drive the real exchange rate and money drives the price level;
(iv) none of the above.

. A pure self-fulfilling exchange rate crisis is characterized by: (i) inconsistency between
the fiscal policy and nominal stability; (ii) there is a positive net benefit of pegging only
in case the peg is credible; (iii) pegging brings more costs than benefits in whatever
scenario; (iv) all of the above.
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II (13.5)

Please present the results with, at most, 2 decimal places.

IL.A. Consider an economy with sticky prices under float, where the interest rate parity holds
instantaneously, and PPP holds in the long run (one year time). The demand for real money

balances is given by m? = é , where Y = 100 refers to output (constant). The foreign price
level is constant and equal to 2.

a) Assume initially that M = 200 and that i = i* = 10%. Describe the initial equilibrium:
(al) Real Money Demand.

(a2) Price Level.

(a3) Nominal Exchange Rate.

(a4) Represent graphically the equilibrium in the money market and in the foreign exchange
market.

b) Assume now that agents” liquidity preferences change on a temporary basis, such that the

; Y
equation for real money demand becomes: m” = T

(b1) Compute the impact on the domestic interest rate and on (b2) the nominal exchange rate,
assuming that the central bank keeps the nominal money supply unchanged.

(b3) Explain the mechanism with the help of a graph.

: 1 ;
¢) If commercial banks set the forward rate at F = > what should investors do: borrow at home

and deposit abroad, or borrow abroad and deposit at home? Could banks maintain this forward
rate in the long run? Explain.

d) Assume now that the shift in the real money demand was permanent.

(d1) Quantify the short run effects on the nominal exchange rate, on the nominal interest rate
and on the price level.

(d2) Quantify the long run effects on the nominal exchange rate, on the nominal interest rate
and on the price level.

(d3) Describe graphically the short and long-term implications of the shock. Explain the
intuition, comparing to what happened in b3).
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I1.B. Consider an open economy with sticky prices under a fixed exchange rate regime, with
e = E(e) = 1. In this economy, money demand is given by mP = % and full employment
output is Yy = 200. Consider, as well, that eB; = 20. The interest rate parity holds

instantaneously, the foreign interest rate is equal to i* = 20%, and, initially, P = P* = 1. The

goods market equilibrium is described by the following expression: ¥ = 5 (A4 + TB), where
e

;T=38,TB=2+5(9—1)and9:§.
e) Assuming that the peg is credible:
(el) Derive the DD Curve.
Lo Y= 5(a+ TB) @)
G Yy=sa+sSzas(e-VN]1)

PN L N
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(e2) Find the level of output, the endogenous money supply and the Trade Balance.
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f) Election season is fast approaching, and our government has a low approval rating. To boost
its electoral chances, the ruling party decides to implement a permanent fiscal expansion, such
that: A" = 42. Assume that the central bank keeps the peg.

(f1) Departing from (e4), explam the adjustment towards the short run equilibrium in the AA-
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(f2) Find the expression of the DD curve in the short-run.
> 4= 50 4+ 2 + 5 -5) = \A5+25%/p

Ly as p = ; DDsa " 9= 495 * adse Dhsp

(f3) Find the implied level of output.
L) as e=V, §= 135 + 5. 4 = 220 (ovtray 9322 beyond ful) umrp-f.m.b\\

(f4) Find the expression of the AA in the short-run.
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(f5) Explain, quantifying, what happens to the central bank balance sheet.
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(f6) Departing from (f1), explain the adiustmem towards the long run in the AA-DD diagram.
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(f7) Find the long-run price level and the expressions of the DD and AA curves.

. d LSS . AT .
L= mn» = Zo. - 'H,TJ—' =350 NI = 1I0 0s hane LR , 3= \,
\_,_.) > T = c [
DD 3= 189 4 23 5 - AS Y = 200 opch € =14 i oo = A + 1S ) Ponz S
-

| - 5

U Th”; PRive @ Nz (18S » S oo DY A

9 Mz p.P = .50 = 2SO

Ly Ba sy W= X 0 ¢ in ol :

= 0 (V¥ a4+ ==\ &= Y = .Jl_gc_i,z,;,\-(.?fr%)\:)
&) A LEER)

‘:.' f\Q\Lf\: hﬁ’a

g) Returning to (e), assume instead that the government decided to credibly devalue the peg to
e’ =1.8.

(g1) Describe graphically the immediate adjustment in the money market and in the foreign
exchange market.

A L

" I\
(5
¥ s
e R Cecer, ;€]
e (s Re Leterey (4]
T R
o Fo r -

Devolvation = € T = E() §

Pegr are cubslle =) Eled=e =) (=% [ iy shesame = L e same]

Y5 D mP Shifes wpeaids f‘li?'



Number: Name:

(22) Departing from (e4), explain the adjustment towards the short run equilibrium in the AA
DD diagram:
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(g3) Find the implied level of output
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(g4) Find the implied level of the money supply.
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(g5) Departing from (g2), explain the adjustment towards the long run, referring to the AA-DD
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(g6) Find the price level that holds in the long-run and the corresponding expression for DD
Lo Op- =95 + 25 %fp with $4=200 TR =193 ] andt e =B = WS
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(g7) Find the long run money supply and the corresponding AA curve.
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h) Compare the short run and long run effects of the measures presented in f) and g) in the trade
balance. Explain the intuition behind the different results.
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%+ Fiscal Expansion [SR] — TB is the same as prices are sticky and the peg didn’t change.
% Fiscal Expansion [LR] — TB worsens, as prices increased, and the peg didn’t change.
% Devaluation [SR] — TB improves, as prices are sticky, but the peg was devaluated.

% Devaluation [LR] — TB returns to the original level: the positive effect on e is offset by the
increase in prices.

% Opverall, the devaluation is able to achieve a positive impact on the trade balance in the
short run, which is not achievable with the permanent fiscal expansion. This has to do with
the fact that the devaluation makes exports more competitive, and imports more
expensive, thus depreciating the real exchange rate. On the long run, the devaluation will
have no impact in terms of trade balance (the TB will be the same as in the beginning).
The same is not true for the permanent fiscal expansion case, where there is actually a trade
balance deficit in the long run.

% Whether policymakers should apply one or the other measure depends on many factors,
but if the goal is to have external surpluses the devaluation is preferred over the permanent
fiscal expansion.



